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® 314 cm? @ 628 cm? @942 cm?

@ 1256 cm? ® 1570 cm?

S
71-_E

A7159] Gl Yol MAZo A A 2] yolet &
Ytk

62.8 x 15 & Al4tstd Hyrh.

62.8 x 15 = 942(cm?)




o] o7t 5em o)A, 7} 942cm? ¢l 97159 =

D)12em @ 9em ® 8cm @ 6cm ® 4cm







11 the 28e 97159 AAEYt o AAEE 4715
2A7)%59] H1E T840,
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19 56em-7 |\

O

® 100.48cm? @ 105.76cm? ® 116.28cm?
@125.6cm3 ® 150.76cm?

o] Zol)=12.56 + 3.14 + 2 = 2(cm)
159 F1])=2x2x3.14 X 10 = 125.6(cm?)
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@® AE°] 8cm ©]1, =17 2cm 1 Y75

@ ®Fz]E°] 3em ©]1, =017} 3em 91 H71S

® 3 EAY7}F 6em 1 ASHA

@ ZAylo]7l 54cm? Q1 FEAA

@) #9771 31.4cm ©|1, 017k 3em 9 D715

B

D 2x2x3.14x2=2512(cm?)
@ 3x3x%x3.14x 3 =84.78(cm?)
® 6x6x6=216(cm?)

@ 3t 22 o] AolE[ |em 2} 5HH
|:|x|:|x6:54,|:’x|:’:9,|:’:3

whabA BuE 3 x3x 3 = 27(cm?) YUt

® ¥ o] 1tz E0] 31.4 =+ 3.14 + 2 = 5(cm)

o|BZ2 Hulk 5x5x3.14 x 3 =235.5(cm®) YUt}
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120cm
/
@O 748 cm @ 868cm
@ 1182cm @®)1496 cm

©® 78 & et

~&B ~
27150 AAEAH Gel HArztge] hzo] dol Brio]
AFo g&UT

et 7] S8 9] dole

(50x2x3.14) x4+ 120 x 2

= 1256 + 240 = 1496( cm)
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e 1T 2L ALY TLT e H8%e FH0R 1 94
so] BHE JA=B ] Hlk @ em? YUY
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Toom - T 5cm

@ 3140 cm? @ 3925cm?
@ 5495 cm? @6280 cm?

® 4710 cm?

BEolZE Al 7HeHE 1 9715 Rl Byt

(& 97159 §¥12]8)= 15cm
(2 97159 Hu]) = 15x 15x 3.14 x 10

= 7065( cm®)

(22 9715 WAE)= 5em
(Fr2 97159 #1) =5x5x3.14x 10

= 785( cm?)
(Fol YA =] K u]) = 7065 — 785= 6280( cm?)




